Приложение

Карточки для работы по методике ВОЗ.

№1

1) Известно 
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[image: image2.wmf]sin 
[image: image3.wmf]41

9
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a

. Найдите: cos α, tg α, ctg α

2) Известно 0<
[image: image4.wmf]2

p

, cos α=
[image: image5.wmf]5

3

. Найдите: sin α, tg α, ctg α



№2

3)  Известно 0< α<
[image: image6.wmf]2

p

. tg α =3. Найдите: sin α, cos α, ctg α.

4) Известно 0< α<
[image: image7.wmf]2

p

. ctg α=2,2. Найдите: sin α, cos α, tg α.



№3

 Упростите:

1) tg2 β (sin2 β-1);

2) cos2 α – (ctg2 α+1) sin2 α.



№4

 Упростите выражение:

1) 
[image: image8.wmf];
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№5

 Докажите тождество:

1) (tg α+ctg α)2– (tg α–ctg α)2= 4

2) (1+tg α)2+(1-tg α)2=
[image: image10.wmf]a

2

cos

2



№6

 Докажите тождество:

1) (sin β+sin α)( sin α– sin β)–( cos α+ cos β)( cos β- cos α)=0

2)  (2+ sin β)(2- sin β)+(2+ cos  β)(2– cos β)=7



Решебник

№1.

1) Известно 
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[image: image12.wmf]sin 
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. Найдите: cos α, tg α, ctg α
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2)  Известно 0<
[image: image15.wmf]2

p

, cos α=
[image: image16.wmf]5

3

. Найдите: sin α, tg α, ctg α
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№2

1) Известно 0< α<
[image: image19.wmf]2

p

. tg α =3. Найдите: sin α, cos α, ctg α.
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№2

2) Известно 0< α<
[image: image21.wmf]2

p

. ctg α=2,2. Найдите: sin α, cos α, tg α.
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№3

 Упростите выражения:
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2) cos2 α – (ctg2 α +1) sin2 α.=
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№4

 Упростите выражение:

1)
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 2) 
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№5

 Докажите тождество:

1) (tg α+ctg α)2– (tg α–ctg α)2= 4
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2) (1+tg α)2+(1-tg α)2=
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№6

 Докажите тождество:

3) (sin β+sin α)( sin α– sin β)–( cos α+ cos β)( cos β- cos α)=0
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4)  (2+ sin β)(2- sin β)+(2+ cos  β)(2– cos β)=7
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Карточки для работы по методике ВТр.

ВТр      №1
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 EMBED Equation.3 [image: image34.wmf]
ВТр      №2
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ВТр      №3
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ВТр      №4
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ВТр      №5
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ВТр      №6
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ВТр      №7
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ВТр      №8
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